43. Strategic and Tactical Decisions – effects on resources
1. Fill in the gaps

Strategic thinking involves analysing the underlying issues facing the business and identifying an appropriate long-term plan or solution. It may lead to major decisions such as Morrisons, in 2015, selling off almost all of its convenience stores. _______________________ decisions are more likely to be day-to-day ones such as how many staff shall we employ on Saturday? Strategic decisions can have dramatic effects on ______________ resources. In December 2015 Anglo-American mining corporation announced the loss of 85,000 jobs around the world. Tactical decisions can also be important, as a decision to run an All-You-Can-Eat Tuesday promotion would have big implications for _______________________ and for finance.  Missing words from: purchasing, human, Tactical, Strategic
2. Strategic or Tactical decisions? (Put S or T, then briefly state your reason)

2.1 Fashion retailer New Look’s decision in 2014 to build at least 50 stores in China. _______________________
______________________________________________________________________________________
2.2 Gap running a ‘40% off everything’ day in the run-up to Christmas 2015. ______________________________
______________________________________________________________________________________
2.3 Ryanair’s failed attempt in 2015 to buy Irish airline Aer Lingus. _____________________________________
______________________________________________________________________________________
2.4 The use by Morrisons of Buy One Get One Free sales promotions in early 2015________________________

______________________________________________________________________________________
3. Effects on resources (Match the effect to the relevant decision)

	Decision
	Effect

	1. Volkswagen deciding to scale back on diesel car development and focus in future on electric cars
	A. New, fully-equipped factory required plus recruiting and training new staff

	2. Nintendo moving into the mobile phone market
	B. Staff will have to take their holidays at a time dictated by the company – but costs will be reduced

	3. David Lloyd Fitness Centres deciding to stay closed between Christmas and the New Year 
	C. Staff and equipment may be redeployed so there’s little loss of efficiency

	4. EasyJet halting all flights to Egypt during a period of security uncertainty
	D. Huge recruitment drive needed for new technical and scientific experts; former staff/equipment may be redundant


4. Which is the greatest strategic triumph? (Choose one of the following; explain why it’s such a triumph)

4.1 Whitbread plc switching out of beer and developing Costa Coffee into a global brand (No 2 in China!)
4.2 Nintendo’s 1970s shift from 100 years of making playing cards to developing electronic games.

4.3 Aldi and Lidl switching from being cheap and downmarket to the shop of choice for middle England.
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
43. ANSWERS – Strategic and Tactical Decisions – effects on resources
1.  Tactical … human … purchasing
2.1 Fashion retailer New Look’s decision in 2014 to build at least 50 stores in China. S. Because it’s clearly part of a long-term plan, not a short-term fix
2.2 Gap running a ‘40% off everything’ day in the run-up to Christmas 2015. T. Desperate tactics by the sound of it, because it’s a short-term way to cut stock without addressing the problem of weak consumer demand.

2.3 Ryanair’s failed attempt in 2015 to buy Irish airline Aer Lingus. S. Part of Ryanair’s long-term strategy to become the most important airline in Europe (arguably, already achieved)
2.4 The use by Morrisons of Buy One Get One Free sales promotions in early 2015. T. Tactical is always short-termist, and this is no different – a short term way to boost sales and cut stocks
3.
	Decision
	Effect

	1. Volkswagen deciding to scale back on diesel car development and focus in future on electric cars
	D.

	2. Nintendo moving into the mobile phone market
	A.

	3. David Lloyd Fitness Centres deciding to stay closed between Christmas and the New Year 
	B.

	4. EasyJet halting all flights to Egypt during a period of security uncertainty
	C.


4.  Crazy question! They are all amazing triumphs, but it will only be in a decade’s time that we will really know which was the ‘greatest’. Given the timescale, I’d go for Nintendo, which has enjoyed three decades of huge profits as a result of its shift to electronic games; and it seems to be able to reinvent itself every couple of years with new, bright ideas in the games market.
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